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From the following information find out
Which of the factory pays larger amount as daily wages
What is the average daily wage of the workers of two factories

Factory A Factory B
Number of Wage 200
Earners
Average Daily Wages | Rs. 20 Rs. 25

What are the mathematical properties of Arithmetic Mean. Explain its

advantages and disadvantages

(4)

(4)

The following table gives the ages in years of 800 persons. Find out
the median age.

Age (in Years) | 20-60 20-55 20-40 20-30
No. of Persons | 800 740 400 120
Age (in Years) | 20-50 20-45 20-25 20-35
No. of Persons | 670 550 50 220

the five observations are 1, 2, and 6, find the other two.

(4)

The mean of 5 observations is 4.4 and the variance in 8.24. If three of

4

If the S.D. of a series is 7.5, find the most likely value of mean

deviation.

For a group of 50 male workers the mean and standard deviation of
their weekly wages are Rs. 63 and Rs. 9 respectively. For a group of

40 female workers, these measures are respectively Rs. 54

Find the S.D. for the combined group of 90 workers.

(4)

and Rs. 6.

(4)

Find the probability of getting the sum of 9 or 11 in a single throw of

two dice.

From a set of 17 cards numbered 1to 17, one is drawn at random.
Show that the chance that its number is divisible by 3 or 7 is 7 /17.
A student applies for a job in two firms X and Y. The probability of his

being selected in firm X is 0.7 and being rejected in firm Y is 0.5. The

probability of at least one of his application being rejected is 0.6.
What is the probability that he will be selected in one of the firms?

The mean and SD of a binomial distribution are 20 and 4 respectively.

Calculate n, p, q.

A company makes electric toys. The probability that an electric toy is

(4x3=12)

defective is 0.01. What is the probability that the shipment of 300
toys will contain exactly 5 defective toys (use poisson distribution).

In a normal distribution, 31% of the items are under 45 and 8% are

over 64. Find the mean and standard deviation of the distribution.
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The ranks of 16 students in tests in ‘Mathematics’ and ‘Statistics’
were as follows.

(1,1), (2,10), (3,3), (4,4), (5,5), (6,7), (7,2), (8,6), (9,8), (10,11), (11,15),
(12,9), (13,14), (14,12}, (15,16), (16,13)

The two numbers within the brackets denotes the ranks of the same
student in Mathematics and Statistics respectively. (4x3=12)
Calculate the rank correlation coefficient for proficiencies of this
group in Mathematics and Statistics

What does the value of the coefficient obtained indicates?

If you had found out Karl Pearson’s coefficient of correlation between
the ranks of these 16 students would your result be the same as
obtained in this case or different?

Equations of two regression lines are (4x3=12)
4x + 7Ty+7 =0 and 3x+4y+8=0

Mean of x and y

Regression coefficients byx and byy

Correlation coefficient between x and y

What are Index numbers? Explain any two methods of constructing
Index Numbers with example. (12)

Fit a straight-line trend on the following data using the Least Squares
Method.

1996 | 1997 |1998 [1999 [2000 |2001 |2002 |2003 |2004

T | e 8 g 7| 11 13~ 14 1]
. (12)
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i Note: Attempt all questions as directe

Q1

o

2.4)
b)

Attempt any Four of the following questions

Circular flow of money in an open economy

(4x5=20)

Marginal efficiency of capital and marginal efficiency of investment
How does a balanced budget multiplier operate when a lumpsum

tax and a proportional income tax are levied
Cost-push and demand-pull inflation.
Effective demand

IS-LM functions

Which aspects of analysing the economy-wide magnitudes are
“macro”, and which are “static’? Suitably Illustrate your answer.(3)
On the basis of the following information, calculate Net National

Product at Market Prices and Disposable Personal Income: (7)
Rs In Crores

Net domestic product at factor cost 15480

Income from domestic product accruing to government 140

National Debt interest 170

Transfer payments by government 240

Net private donation from abroad 30

Net earned income from abroad 80

Indirect Taxes 1330

Direct Taxes 335

Subsidies 100

Taxes on corporate profits 222 .

Undistributed profits of corporations 105 |

OR

4 Which of the following are likely to increase measured GDP, and which
are likely to reduce it? Give justification.
The fraction of women working outside the home increases.

Q4

7

There is a sharp increase in the crime rate.

(10)

Higher tax rates cause some people to hide more of the income

they earn.

Why did the classical economists assume that full employment would be
automatic in a competitive economy? On what grounds did Keynes
question this assumption?

OR

(10)

“Keynes’s consumption function is an epoch-making contribution to the
tools of economic analysis”. Discuss this statement and bring out the

importance of consumption function in macroeconomic analysis.
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What is a business cycle? It is a well-known fact that modern economies
are characterized by business cycles. Does this mean that it is very easy
for firms to decide whether to expand or not since entrepreneurs can

easily forecast future economic growth? Comment. (10)
OR

a) Which is a greater problem: anticipated inflation or unanticipated

inflation? Explain. (S)

b) Suppose that the inflation rate turns out to be much higher than

most people expected. In that case, would you rather have been a
borrower or a lender? Explain. (S5)

A student says: “I understand why the RBI uses expansionary policy, but
I don’t understand why it would ever use contractionary policy. Why
would the government ever want the economy to contract?” Briefly
answer the student's question. (10)
OR

According to the quantity theory of money, if velocity does not change
when a country's money supply increases, will there be an increase in
nominal or real GDP? Discuss. (10)
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END TERM EXAMINATION

FOURTH SEMESTER [B.CoM (HoNns)] MAY- JUNE 2015
lPaper Code: BCOM 206 Subject: Macro-Economics l
Time: 3 Hours Maximum Marks: 75
| Note: Attempt any five questions. [

Q1  Write short notes on the following: (3x5=15)
(a) IS-LM Equilibrium
(b) Quantity theory of money
(c) Marginal efficiency of capital
(d) Relationship between savings and consumption
(e) Monetary policy

Q2 What is Macro Economics? Discuss its features and importance. (15)

93 Discuss circular flow of four sector economy. Explain relation between
leakages and injections in circular flow. (15)

Q4 What is National Income? How is it estimated? Discuss problems in
estimation of National income. (15)

QS Describe the Classical and Keynesian Theory of Income, Output and
Employment. (15)

/Q6 What is money? Discuss measures of money supply. (15)

Q7 Explain different theories of Inflation? Also discuss methods to control
inflation. (15)

Q8 What is Fiscal Policy? Explain its components and its significance for the
development of Indian Economy.  fuf fnf 74,(5ovf E1 ) Taxaon, Fobti b (15)
2505 10
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Economics

Time : 3 Hours Subject: Macro e
Maximum Marks :

Neowe : A ; femi
ttempt any five Questions including Q.No.1 which is compulsory.

QI.  Write short notes on thefollowing- ="
) Actual GDP and potential GDP
Explanation : Section 2.3,
b) Marginal Efficiency of Capital
Explanation : Sections 5.2, 52.1,52.2,53

¢) Liquidity Trap
Explanation : Section 9.1.1 (3)

d) Fisher Quantity Theory of Money
Explanation : Sections 10.2, 10.2.1, 10.2.2, 10.2.3, 10.2.4

e) Philips Curve
F‘-‘P‘lﬂ'ﬂm : According to Philips, there exists an inverse relationship between changes
in the rate of unemployment and changes in money wage rate or wage inflation.
Conversely, there exists a positive relationship between the rate of inflation and the
rate of employment. The inverse relationship between unemployment and inflation is
depicted as a downward sloping, concave curve, with inflation on the Y-axis and
unemployment on the X-axis. In other words, when unemployment rate increases,
money wage rate decreases and when money wage increases, the unemployment rate
decreases. This is mainly because of the fact that during boom, demand for labour

increases, which increases bargaining power of the trade unions and thus wages

increase. Thus, increase in unemployment lead to increase in the wage rate. When
increase, the firms’ cost of production increases. This leads to increase in price.

wages
It is also called wage inflation. That is, decrease in unemployment leads to wage

_inflation. The original Philips curve may be shown as follows.
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Q7.

Q8.

~ Whatare the determinants o mon.

‘multi
the central bank changes the statutory r e

Explanation : Section 9.5

How does inclusion of the government sector in two m ec

model of equilibrium analysis? What new variables are added
they affect the IS-LM schedule?

Explanation : Sections 13.3, 13.4.3

What is balanced budget multiplier? Assuming a theoretical model for an econ: or
that the balance budget multiplier is always equal to one. =

Explanation : Section 7.2.4

“Inflation is unjust and deflation is inexpedient, of the two deflation i
Elucidate. ‘

Explanation: Section 11.7

What is the importance of fiscal policy for the growth of an economy? Explain t
factors which affect the fiscal policy of an economy.

Explanation : Sections 12.6, 12.7
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END TERM EXAMINATION

SECOND SEMESTER |B.COM(HONS).] MAY-JUNE 2018

Paper Code: BCOM-106 Subject: Macro-Economics _J
Time: 3 Hours Maximum Marks: 75

Note: Attempt any five questions. All questions carry equal marks.

Q1 Macro economics examines ‘forests’ but not ‘“rees’. Analyse the statement
‘ in the light of scope and limitations of macro economics.

/QQ Explain circular flow of income in three and four sector of economy.

Q3 [a) Explain expenditure method of measurement of National Income.

_{b) Discuss the problems associated with measurement of National
Income in India.

Q4 Explain Keynes Theory of full employment and income and discuss how

it differs from the postulates of classical economists.

Q5 Discuss Friedman’s Quantity Theory of Money and mention the criticism
it is subjected to.

Q6  What .are the different measures of money supply? Explain them in
detail.

Q7 Discﬁss IS-LM model and analyse its relevance and- implications for
economic policy making.

9/8 Write short notes on the following:-
(a) Leakages and injections in circular flow model.
By Marginal efficiency of Capital and Investment.

(c) Instruments of fiscal policy.
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END TERM EXAMINATION

SECOND SEMESTER [B.COM(1ons.}] MAY - JUNE 2019
‘Papesr Code: B.COM-106

S, Time: 3 Hours

i

Subfect: Macro Economics |
Maximum Marks: 75
Note: Attempt any five questions. All questions carry equal marks.

]

Q1 (a) Discuss critically GDP as a measure of economic welfare
{b) Why do economists use real GDP rather than nominal GDP to gauge
economic well-being?

Mcus& the circular flow of Income in 2, 3 and 4 sector Economy. State

the importance of Government in ensuring the smooth flow of goods and
services.

Trace out the effect of an increase in nutonomous cxpenditure on
equilibrium output in simple Keynesinn model
equilibrium income if MPC rises or falls?

&
&

What happens (o

Q/ What is mumpher? How does it work in an economy? Explain why an
increase in gaw'rnmrm spending hing o

preater mmultiplier effect on
equilibrium output compared to an equal reduction in taxes

/ﬁcﬁne Money. What are its functions? Discuss Fisher's version of
;  Quantity Theory of Money.

Qb6 \%&tfs the meaning of Inflation? What arc its types? Discuss various
/ measures to control inflation in an economy.

Q7

What are the tools used to implement the monetary policy? Explain how

the tightening of monetary policy leads to fall in the money stock of the
economy.

Q8 Describe the 1S and LM curves. How can these be used to derive t!
Aggregate Demand Curve?
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END TERM EXAMINATION

SeEconp SEMESTER [BCOM(HoNS)] JUNE 2024

[ﬂzgr Code: BCOM-104 Subject: Business Laws(C) |
Time: 3 Hours Maximum Marks: 60

[ Note: Attempt all questions as directed. Internal choice is indicated.

/

Ql’ Attempt any Four of the following questions (4x5=20)
" &),  Explain the remedies of a breach of a contract

%) Explain Essential of a Valid contract

' ¢) . Explain Essentials of ‘Consideration” in a contract

od)" Explain Types of Crossing of Cheque

“e)  Elaborate the concept of Indemnity and Guarantee

f) Differentiate between Bailment and Pledge
g Explain main features of LLP Act 2008
Jij  Explain the rights of Unpaid Seller

Q2 What is the difference between Sale and Agreement to Sell? State when the
property in goods passes from the Seller to the Buyer. (10)

OR
7 9/ Explain the difference between Condition and Warranty in Sales of Goods Act.
Explain all the implied conditions in the Contract of Sale of Goods. (10)

Q4 Distinguish between Fraud and Misrepresentation. What are the effects of the

two on the validity of the Contract? (10)
OR.
o What do you mean by Negotiable Instruments Act? Explain the types and its
importance. d ' (10)
Q6 Explain the Concept of Holder and Holder in due course. What is the Privileges
holder in due course? (10)
OR
Explain the definition and registration of Partnership under the partnership
Act 1932. Also elaborate the steps of dissolution of Partnership. (10)

Q8 Explain Unfair Trade Practice and also the role of Consumer Dispute Redressal

Mechanism under Consumer Protection Act 2019 (10)

OR .
: /@ Explain the concept and types of negotiable instruments — bills of Exchange
and Promissory Notes with suitable example. (10)
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END TERM EXAMINATION

SECOND SEMEST
Paper Code: ER [BCOM(HONS,)| MAY2019 . —
Ep o 1oe Subject: Business Law & Company La

Time : 3 H ;
Note: ;:;: Maximum Marks :75
. mpt any flve questions, All questions carry equal marks. © |

1. Explai i | s
8 ang ‘n briefly t’he legal provisions relating to communication of ‘offer’
kaCCeptance. Also state on what grounds docs an offer stands

revoked. How can an acceptance be revoked?

)/32/7 Distinguish between the following:
a) Contract of Indemnity & Guarantee

b) Contract of Bailment & Pledge

Q3. Explain in brief the rules relating to the delivery of goods. Explain with
?Dfamp‘les the rules relating to i) Part delivery i) Delivery by installments
1ii) Delivery of wrong quantity.

/Q/d‘(' Distinguish between ‘condition’ and ‘warranty’.  Briefly discuss the
implied conditions and warranties in a contract of sale.
%
What is a negotiable instrument? What are its essential characteristics?
What are the legally permitted presumptions in respect of a negotiable
instrument? {

Q6. Distinguish between™ ~ 7 17~
a) A ‘Bill of Exchange’ & a Promissory Note’.
b) Negotiation & Assignment

c) Ambiguous Instrument & Inchoate Instrument

/ . What is a ‘memorandum of association’ What are its different clauses?
How can the liability clause be altered?

Q8/ Write a short note on any three:

7/ a) Prevention of oppression and mismanagement
b) Essential conditions of a valid meeting
c) Rights of an unpaid seller

d) Alteration of Articles of Association.
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END TERM EXAMINATION

Second SEMESTER [BBA] MAY-JUNE 2018

legper Code: BCOM-104 Subject: Business Laws and Company LawsJ
Time : 3 Hours Maximum Marks :75

L Note: Attempt all questions as directed. Internal Choice is indicated.

Q1 Define and explain the following definitions given in relevant laws:(2.5x10=25)
a) Consideration
b) Contract of sale
c) Prospectus
d) Share capital
e) Holder in due course
f) Statutory meeting
g) Preference Shares
h) Indemnity
i) Proposal
j) Unpaid Seller

UNIT-1 ,
Q2 Promise made by husband to his wife will not create any legally binding
obligations. Explain using relevant case law. (12.5)
OR

Q3 The Indian Contract Act, 1872 contains explicit provisions under which
certain agreement are expressly declared as void agreements. Briefly

discuss such void agreements. (12.5)
UNIT-1I
Q4 Conditions and warranties are considered as exceptions to the general
rule of ‘caveat emptor’. Discuss. (12.5)
OR

Q5 Explain the circumstances under which sale by non-owners is regarded
as legitimate sale and the buyer acquires better title than that of the

seller over the goods. (12.5)
UNIT-III
Q6 Explain the contents of Memorandum of Association (MoA) and its
significance under the ‘doctrine of ultravires’. (12.5)
OR

Q7 Discuss the provisions related to the appointment of Directors of a
company and their role vis-a-vis the company and share holders. (12.5)

UNIT-IV
Q8 Explain different types of Negotiable Instruments and discuss the
characteristics of each type of negotiable instrument. (12.5)
OR
Q9 (a) The rights of a holder in due course are superior to the rights of a
holder. Elucidate. (6.5)

(b) Briefly explain different types of crossing of cheques. (6)
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END TERM EXAMINATION

Seconp SEMESTER [B.com(Hons.)] May-2017 1
IPa_per Code: B.COM-108 o Subject: Business Laws ]

Time: 3 Hours Maximum Marks: 75

Note: Attempt any five questions inchiding Q.Nol of Part A which is |
compulsory. Select four questions from Part B,

PART-A
Q1 Define the following (Attempt any three):- (5x3=15)
(a) Doctrine of Caveat Emptor
(b) Crossing of cheques
Jle) Quasi Contract :
(d) Contract of bailment and agency

PART-B

Q2 “Insufficiency of consideration is immaterial, but an agreement without
consideration is void”. (15)

Q3 Examine the various ways in which a contract may be discharged? (15)

Q4 Define a Contract of Sale. Distinguish between a contract of sale and an
' Agreement to Sell. (15)

Q5 (a) What do you understand by Condition and Warranties. (7.5)
(b) Parmod bought a bike from Manoj who had no title to it. Parmod used

the bike for several'weeks. After that the true owner came forward and
demanded the bike. State the right of Parmod and the true owner of

the bike. (7.5)

Q6 Define a Promissory Note and State its main characteristics,Distinguish
it with a Bill of Exchange. (15)

el

-~

,QTI What do you understand by Limited Liability Partnership (LLP). How it is
different from a Company and Partnership? (15)

Q8 (a}-Discuss the provision of incorporation of Limited Liability Partnership

LLP) firm. (7.5)
//{b Who can be a holder-in due-course? What are his privileges? (7.5)

Scanned by CamScanner
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END TERM EXAMINATION

SECOND SEMESTER [B.COM (HONS.)] JUNE 2024
|__Paper Code: B.COM -102 Subjects: Corporate Accounting () |
Time: 3 Hours Maximum Marks: 60

1

a

Q3

Note: Attempt any five questions. All questions carry equal marks.

Q1 @ XLt Invited application for 10000 equity shares of Rs.100 each at
Vg payable at Rs.25 on application, Rs.40 on allotment, and Rs.35 on first
and final call. Applications were received for 9000 shares and all these
were accepted. All money due were received except the first and final call
on 100 shares which were forfeited in due course. Of these, 50 shares were
reissued at Rs.90 fully paid. Pass Journal entries in the books of X Ltd. to
record all the above transactions and prepare the balance sheet.
(i)  State the conditions for buy-back of equity shares as per Section 68 of
Companies Act, 2013,
Q2 The following are the account balances of X Ltd. as on 31stMarch 2021:
| Credit Rs. |Debit | Rs.
5000 12% Redeemable Preference :
Shares of Rs.100 each 5,00,000 | Fixed Assets 24,00,000
10000 Equity Shares of Rs.100 each 10,00,000 | Stock 5,00,000
Capital Reserve 1,00,000 | Debtors 50,000
Securities Premium Account 1,00,000 | Cash 50,000
General Reserve 2,00,000
Surplus 1,00,000
Current Liabilities 10,00,000
30,00,000 30,00,000

Y Ltd. Has an authorised capital of Rs.2,000 Crores consisting of 20 crore equity
shares of Rs.100 each. Following is the trial balance of the company as at
31%tMarch, 2022:

Debit - rf:') Credit :'wf;
Calls in arrears 200 [ Sales 15,620 |
Purchases 8,770 | Creditors 500 |
Advance tax paid 2,450 | 12% Debentures 1,000
Salaries 2,000 | General reserve 580
Advertisement 1,000 | Salaries outstanding 20
Loose Tools 200 | Commission 80
Rerit 1,100 ng:I\ismn for depreciation on 500
Prepaid Rent 30 ;xlnr:;lg;le for depreciation on 300 ’
Interest on Debentures 100 | Surplus 570 (
Plant 2,500 | Commission received in advance 30 J'
Furniture 1,300 | Share Capital 2,000 |
P.T.O.

Plonoy
D .



Q4

Q5

2]

Debtm_— 800 | Provision for tax T -_1_,250
Stock 450
Bad Debts 50
Bank Balance 450
Building 1,050

22450 22,450

Additional information:

() Rs.200 crores are outstanding for advertisement.

(ii) Provide depreciation on plant and furniture at 20% p.a. 10% p.a. respectively on
written down value.

(iii) Maintain provision for doubtful debts at 5%.

(iv) The directors proposed & dividend of 30% on paid up share capital.

(v) Make a provision of 25.75% for income tax (including all applicable cess).

(vi) Transfer Rs.500 crores to General Reserve.

(vii) Closing Stock is Rs.2,000 crores.

Prepare Statement of Profit and Loss for the year ended 31 March, 2022 and Balance
Sheet as at that date as per Division II of Ind-AS.

On 1 April 2022, Vishnu Ltd. has a balance of Rs.4,00,000 in Surplus Account. The
company decided to repay Rs.4,00,000 12% Debentures on 31 March 2023 at a premium
of 10%. Debenture interest is payable annually at the end of financial year.

The company also has a balance of Re.2,00,000 in the Debenture Redemption Reserve
Account; the company makes investments as per Rules framed under Companies (Share
Capital and Debenture) Rules 2014 on 1% April of every financial year. The investments
mnyi.ntautorw%p.n_andmrenlisedatpar.

Journalise the transactions for financial year 2022-23 complying with the provisions of
Companies Act 2013. Company has s ient balance in the bank account.

On 31% March 2022, the balance sheet of B Ltd. was as follows:
B Limited
Balance Sheet as at March 31, 2022

Particulars Note No. Rs. T
L. EQUITY AND LIABILITIES
(1) Shareholder's Funds
(a) Share Capital
S0000 10% Preference shares of Rs, 10 each 5,00,000
150000 Equity shares of Rs. 10 cach 15,00,000
(b) Reserves and Surplus (Negative balance} -2,80,000
(2) Non-Current Liabilities
(8) Long-Term Borrowings (10% Debentures) 3,00,000
(3) Current Lisbitities
(b) Trade Payables (Creditors) 2,00,000
Total 22,20,000
II. ASSETS
(1) Non-Current Assets
(a) Property, Plant and Equipment
Plant & Machinery 7,00,000
Furniture & Fixtures 2,00,000
(b) Intangible Assets
Goodwill 4,00,000
L Patents 1,50,000
P.T.O.
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@_ Current Assets

(&) Inventories (Stock-in-trade) 4,90,000
(b) Trade Receivables (Debtors) 2,55,000
(c) Cash and Cash Equivalents (Bank) 5,000

(d) Other Current Assets
Preliminary Expenses 8,000
Discount on issue of debentures ]2.05’
Total 22,20,000 |

On the above date, ABC Limited takes over the business of B Ltd. on the following

terms and conditions:

(i) One equity share Rs.5 paid up to be allotted in ABC Ltd. for each equity share
in the B Ltd.

(i) Two equity shares Rs.5 paid up to be allotted in ABC Ltd. for each preference
share in the B Ltd.

(ili) Debenture holders to receive 30,000 equity shares in the ABC Ltd. credited as
fully paid.

(iv) Creditors to be taken over by the ABC Ltd.

(v) ABC Ltd. to take over the assets of B Ltd. (except patents), subject to writing
down plant and machinery by Rs.2,90,000 and stock by Rs.60,000

(vi) Patents were realised by B Ltd. for Rs.10,000

Liquidation expenses of B Ltd. came to Ra10,000. Prepare Realisation Account and Equity

Shareholders Account in the books of B Ltd, Also, pass all necessary journal entries in

the books of ABC Ltd.

The financial information of S K Ltd. are given below:

S K Limited
Items of Baiance Sheet on March 31, 2021 and 2022
2022 |
Pusticulars R ney | Rl
L EQUITY AND LIABILITIES
Share Capital 1,000 1,500
General Reserve 360 420
Securities Premium 30
Surplus Account 250 400
Debentures 400 270
Accounts Payable 200 300
Income tax Payable 40 50
Other Current Liabilities 250 %{
Total 2,500 | 3,200 |
II. ASSETS
Plant and Machinery 1,550 1,800
Less: Accumulated Depreciation -230 -300
1320 1500 |
Investment (Long term) 315 440
Stock 700 1140
Accounts Receivable 150 80
Cash at Bank 15 40
Total 2500 | 3,200 |
P.T.O.
L i .\
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{tems of Income Statement for the year ended March 31, 2022

Rs. (in Rs. (in
Particulars lacs) lkos
J Sales 1,480
Less: Cost of Goods Sold -830
650
Operating Expenses including depreciation -300
350
Interest on debentures -60
dividend received 173
Gains on sale of investment 15
| Loss on sale of machinery -8 120
’ Profit before tax 470
Provision for tax -110
| Profit after tax 360

Additional information:
(i) The company paid dividend of Rs.150 lakhs during the year.
() A machine costing Rs.80 lakhs, accumulated depreciation Rs.50 lacs, was
sold during the year.
(iii)  The book value of investment, sold during the year, was Rs.43 lacs,
Prepare cash flow statement as per AS-3 (Revised).

y/ Write short note on any three of the following:
/(a-}/ Conditions in case of amalgamation in the nature of merger
/(b)’ Purchase consideration and Net Assets Method of calculating purchase
consideration
(c) Pooling of Interest Method of amalgamation.
(d) Utilization of securities premium as per Sec 52
);)/ Issue of bonus shares

What is Corporate Financial Reporting and what are its objectives? Also, explain
the types of Corporate Financial Reporting.

T, AN
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The fallowing pasticulars relate to a Limited Company which has gone
Intn voluntary liquidation. You are required to prepare the Liquidator's
Statement of Account allowing for his remuneration @ 2.5 % on all assers
realized excluding call moncy received and 2% on the amount paid to
unsecured creditors including preferential creditors

Share capital fssued:

10,000 Preference shares of Re. 100 each fully paid up.

50,000 Equity shares of Rs.10 each fully paid up.

30,000 Equiry shares of Rs.10 cach, Ra.8 paid up

Assets realized Rs.20,00,000 excluding the amount realized by sale of
securitien held by partly secured creditars,

Rs. ]
Preferential creditors 50,000
Unaecured creditors —18,00,000 |
Partly secured creditors (Assets 1,50,000
realized Rn_3,20,0000 o
Debenture holders having floating 6,00,000
charge on all nssets of the company | |
Expenses of liquidation - _10060_]

A call of Ra.2 per share on the partly paid equity shares was duly
received except in case of one sharehalder owning 1,000 shares and  also
calculate the percentage of amount paid to the unsecured ereditors 1o
the total unsecured creditors. (15)

What are the circumastances in which there miy be a need for valuation
of sharea of joint stock company? How will you determine the intrinsic
value of one equity share of u joint stock company? Explain with the help
of un ilustraton 115

Write short notes on any thres of the following:

(i) Ansets clasaification in case of Banking Companies

(1] Reconatructing Scheme

(iii) Reserve for Unexpired Risk in case of Insurance Companiea
{iv} Reasanable Retirn in case of Electricity Companies

{v) Insue of Bonus Shares

[3x8=15)

arRsssEsEERE S
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END TERM EXAMINATION
FourTn Seumsren [B.Com [Hows MAY-Juse2015
Subfect: Corporute Accounting —!

_Time: 3 Hours

Maximum Marks: 75
Note: Attempt any five questions.

Q1

Q2

Rao Galvansing Co.Ltd. has an authorized equity capital of Ra, 20 lakhs
divided into shares of Ra. 100 each. The paid up capital woa Ra,
12,50,000. Besides this, the company had 9% Redeemable Cumulative
Perference Shares of Rs. 10 each for Rs. 2,50,000. Balance on other
accounts were-Scecurities Promium, Rs. 18,000, Profit and Loss Acoount
Ra 72,000 and General Reserve Ra. 3,40,000. Included in Sundry
Assests were Investments of the face value of Rs, 30,000 carried in the
books at a cost of Rs. 34,000,

The company decided to redeem the Cumulative Preference Shares at
10% Premium, partly by the lssue of equity shares of the fnce value of
Hs 1,20,000 at a premium of 10%. Investments wers sold at 105% of
their face value. Al preference shareholders were paid off except 3
holders halding 250 shares

After redemption of the Cumulative Preference Shares, fully pnid bonus
shares were issued in the ratio of 1:4. '

Give the neceanary journal entriea bearing in mind that the Directora
wanted & minimum reduction in free reserves, while effecting the above
transactions. Working should form part of your answer (15)

The Balance Sheet of Suneel Prothers Lid, Disciosed the following
information on 31* December, 2012,

Ra,
15%Debentures 15,00,000
Debentures redemption fund 11,63,600
Debenture redemption fund investments:
10% Oovernment securnitics 11.63,600

The contribution to the Debenture redemption fund was 1,30 800 per
annum for the year 2013 and 2014, Debentures fell due for payment on
31= December, 2014, Prepare the above accounta in the booka fo the
company assuming that securities were realised on 31* December, 2014
for aosum of Bs. 13,52,000 and interest on Securities on 31#® December,
was immediately invested., 115)

12] (5]
Q3 The following in the Tri Halance of Subhash Limited as on 31.03.2012: Debtors of HLd. include Rs. 2,000 duc fom S Ltd, and bills payable of 11
Lid, included a bill of Ra. 500 aceepted in favour of 8 Lud. A loan of B, 1,000
_ : {Figures tn Ra V00| given by H Ltd, 1o § Lid. wan nlso included in the itema of debtora and
Debit — _Fa|Credit 000 | Ra creditors, respectively. Rs. 500 was transferred by 8 Ltd. from Profit and
Land ot cost 110 | Equity Capital {Shares of 150 Loss Account to Reserve Qut of current year's profit Bhares were purchased
Ra.10 each) on 30 June, 2011 at par. Prepare a Consalidated Balance Sheet, (15)
Mont & Machinery at cost 385 | 10 Debenture 100
Tiebtors 48 | General reaerve 65
Sleck [31.03.2012) 43 | Profit and Loss A/C a6 5  Hlue Ltd. and Star Lid. were amalgnmated on and from 1% April, 2012, A
Rank 10 | Securitien premium 20 new company called Yellow Star Ltd. was formed to take over the
Adjusted purchases 160 | Sales 350 bunsinenn of the abave snid companies. The balance sheets of Blue Ltd.
Factory expenses a0 | Creditors 26 and Stnr Ltd. as on 31% March, 2012 are given here under;
Administration expensen 15 Provision for depreciation a6
Selling expenscy 15 Suspenne Afc 2
Debenture intereat 10
Interim dividend padd |9 _ | [Rs. In lakhs)
83s 835 | ) Blue Ltd. Starled.
Liabilities:
Additlonal Information Share capital:
a] ©On 31,03,2013, the company Issued bonus shares to the shareholders Equity shares of Rs. 100 2,000 1,600
on 1:3 basis, No entry relating to thia has yet been mude. ecach
(b)  The authorized share capital of the company is 25,000 shares of Rs. 10 15% Preference share aof ROQ HO0
ench, Ra. 100 ench
{e) The company en the ndvice of an independent valuer winhes to revalue Revaluation reserve 200 160
the land at Ra. 1,80,000. General Reserve 400 00
(d]  Proposed final dividend 10% Profit and Loss Account 160 120
e}  Suspensz account of Re. 2,000 represents cash received for the sale of 12% Debenture of Rs. 100 192 160
mome of the machinery on 1.04.2011. The cost of the machinery was ench
Ra.5,000 and the accumulated depreciation thereon being Has.4,000, Current Linbilitiea 408 180
n Depreciation in to be provided on plant and machinery at 10% on cost. 4,160 a.ﬁg
You are required (o prepare Subhash Limited's profit and loss account for Annets: 2,400 2,000
the year ended 31.03.2012 and 2 balance sheel on that date as per the Fixed aassts 1,760 1,130
provisions of Revised Schedule V] of the Companies ACT, 1956, (15) Current assets loans and 4,160 3,130
advances
Q4 The following ore the Balunce sheets of H. Ltd. and its subnidiary § Ltd. ’
as on 31% December, 2001,
Balance Sheet Additional Information:
As on 31* December, 2011 o (i| Preference shareholders of Blue Ltd. and Star Lid. have received same
[Liabilitien  [HItd Rs. | S Ltd. Rs. | Assets H.Ltd.Rs. |5 Lid. Rs. number of 15% prefercnce shares of Rs. 100 each in the new company.
Share 10,000 8,000 Building | 4,000 - )
Capital  in (i} 12% Debentures of Blue Ltd. and Star Ltd. are discharged by the new
Fe. 1 share company by issuing sdequate number of 16% debentures of Ra. 100 each
Remerve 4,000 T A.000 Plant 1,000 6,000 to enasure that they continue to receive the same amount of interesl,
}iﬂ]i::h]c 2,000 1,000 Stock 4,000 6,000 {ilijf Yellow Star Ltd. has issued 1.5 equity shares for each equity share of
Creditors 5000 | 4,000 Sharea in § | 6,000 = Biue Lid. and | equity share for ench equity share of Star Ltd,
PALAfe 4000 | 2,000 Debtors 5000  |3,000 The face value of shares issued by Yellow Star Lid, is Rs. 100 ench.
[ Rills 2,000 2,000 You are required to prepare the balance sheet of Yellow Star Lid, as on
| Receivable 1= April, 2012 after the amalgamation has been enrried oul using the
1 Canh 2,000 1,000 ‘pooling of interest method.” (18)
| 25,000 18,0040 25,0410 18,0041
P.T.O P.T.O
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Qe The Balance Sheei of Toy gun Manut ring Co. Ltd. discloses the
following financial pesition as at 3! March, 2013,

Total

The following additional information is also supplied:
{a) Adequate provision hos been made in the accounts for income-tax
and depreciatio
(b] Rate of ince
{c] The average
five-years was
(d) The reasonable re
done by the compuny 1s 12 pér cent.
You are required to value wodwill of the company according to:(B+7=15)
i, Super Profit Mett nd
ii.  Capitlisation of P'rofit Method

may be taken at 50%.,

e of dividend declared by the company [or the past
per cent

n on capital invested in the class of business

Q7 Write short notes on any three of the follawing:- (3x5=15]
|a) Issue
(b) Book-Building
(¢} Liquidator's Statement of Account
(d) Methods for V
(] Valuation Balance Sheet ir

[Please write your Exam Roll No.) Exam Rott No. 216 e

( —

END TERM EXAMINATION 8y,

FOURTH SEMESTER [B.COM (Hoxs.] MAY- June 2016

:.f‘a.per Code: BCOM-202 _____ Subject: Corporate Accounting
Time: 3 Hours _ Maximum Marks: 75

~ Note: Attempt Jive qu;ifans.

A company offered for public subscription 10,000 shares of Rs. 10 each
at Rs. 11 per share, Money was pavable as follows:

Rs 3 an applicanan

Rs 4 on allotment

Rs 4 on lirst and final call

Applicalions were received for 12,000 sk
rata allotment

A, on applicant for 120 shares, could not pay the allotment and call
moneys. B, a holder of 200 shares, failed o pay the call. All these shares
were later on forfeited

Out of the forfeited shares 150 shares (the whole of A's shares being
included) were issued at Rs.Y per share, s journal entries for the
anbove transactions. (15)

ares and the directors made pro

The following are the balunces of Johri Albhushanb Bhander Co. Ltd. as
on 31 March, 2013

Debit 1 — Ra_ [ Credit |

Premines 1 0t | Share 40,0

Plant _An,00

Stock | 2,62,500

Debitors 2,770,000
d __4,00,000

| Kese

| Debt. Provision
01.04.2012

{l7) Write off Rs. 5,000 from Pr
{c) Half-vear's Debenture Interest
(d) Cred Pro an Debtors for

v bxpenses

(e) Provide for e Tax @50

( Stock un ch, 2013 was )

(2 A clamm of 25,000 far wo o ensation is being disputed
by the cor
Prepare of the « for the vear ending 31%

“e ;Izl
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2017 are as follows
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((Please write your Exam Roll No.) Exam Roll No. OLDILﬂ? &?2}

END TERM EXAMINATION

SECOND SEMESTER B.COM [HONS.] JUNE 2024

Paper Code: B.COM-110 Subjects: Environmental Science &

Sustainability (C)

Time: 3 Hours Maximum Marks: 60

l

Note: Attempt any Five questions. All questions carry equal marks. ]

i eri/

.__Qz"
03
o’
“F
4

Q7

Q8

Why is it important to study Environmental Science? Write its Significance? ( g

What is an Ecosystem, its major Components & Biodiversity? Discuss flow of
Energy in an Ecosystem?/ ¢ |

Explain in detail Environmental Management System (EMS)-ISO Standard
140017

What is an Environmental Accounting System, its advantages & Significance
in Current Scenario? U’)

How is Responsible Production & Mindful Consumption can help in
Environment Protection, Explain its Rationale & challenges? ( 3)

Explain the concept of Sustainability & any two Sustainability Development
Goals (SDG’s) & Challenges in Achieving the targets set by the United Nations
Development Programme? (4)

Explain the concept of Carbon Footprinting & Aims & Vision of KYOTO Protocol?

Elaborate on salient features of Environment Protection Act, 19867?
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